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QlL In the given figure find the angle of
y LABC.
L. = -0 Rewe A3 #H Asc & aE Sta el
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Q2. In the given figure, what is the value of
LI L2 L3IV LA LB =7
& o1 PIA H, L1422+ 23424+ .5 B FTA T

g?

(C) 360 (D) 450
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Q3. In the given figure, £.BAC = 70°, £ACB =

45° and 4DEA = 140°. What is the value of
LBDE?

& 1€ 3npfad A, LBAC = 70°, LACB = 45° da
¢DEA =140° 8| 2BDE &1 ATl &1 2?

(A) 10° (B) 15°

» @2




Q4. In the given figure, EF = CE = CA, What is
the value of LEAC?

&t ag A EF=CE=CAZL @ LEAC &I
AT T .
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A) 58°

(B)64°
C)72°

(D) 32°

20 =96
@ - %3




QS. In a given figure, If AD = DE = EC = BC

thencZA:«B=7?
RemfdsfadAaR Ap=pDE=ec =sc A

ZA : 2B &1 ATHA 1 2M?

(8)2:5

FER (D)1:2
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Q6. 2 sides of triangle are of 4 cm and 10 cm.
If 3rd side is length of ‘'a’ cm then which is

correct value for a.

s Rofa 1 2 4 A. aem 10 A =h
2| agaar af? & ssard ‘o' A A,
Mo BT BA-TTATA T L ?

(A)a>5 (B)6sas12
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/i Q7. In a triangle ABC, O is any point inside
P the triangle then which one of the following
/e is correct?
- R asc S AT A A= A A
g & - BAA PAATTL?
j:; 2(0A+0B+0C)> (AB +BC + CA)
[Ac] B> A & AB) (OA+O0B +0C) < (AB+BC +CA)

— e S AC) 2(AB+BC +CA) > (OA + 0B + OC)
Aloj +locl > AC D) (AB+BC + CA) > (OA+ OB + OC)
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Q8. ABCD is a quadrilateral AC and BD are
its diagonals then which one of the
following is correct?

ABCD U® t 32 Ac a2 BD A |
mt,m%amﬁmmg*

Y\; éAB*BC* CD+ DA} » (AC +BD)
B) (AB+BC+CD +DA) < 2(AC +BD)

(C)BothAandB /2T A 3ZB
(D) None of these | 351 & &18 gl
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la +b > « ) Q9. The 3 sides of an acute angled triangle
2 59" are 15,17 and x cm. if x is an integer then

Is. 17, X how many such trion%l}os are possible ?
) . x5l g w2 diat afoe 15 A, 17
IS+x*) 3%+ | Aaft 302 x A T1 312 x v quifes ¢ At 0A faa

225+ > 219 | 137428 ) . R Haa T

x>0y [ 51y yxt (A)13

7 (c)2e (D) 15
< x <a*31 *3-8-!
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Q10. if the perimeter of a triangle with
integer sides is 32, what is the largest
possible length of the longest side?

A +b+c: 3 af faeh AT AT Ao &1 uf’ay 32

¢ A TR T} ofoA BT Hora ATt A EN ?
ey fws | e
L LJJ > t;—s () & NS (D) 18
1 3
—/ T (‘9
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IRQRG | PR | 308 | Y2C

JHTI rd ~| %1 Q-

*3 [a5 55

/3

/

Q12. if a and b are the lengths of two sides of
a triangle such that the product ab = 24,
where a and b are integers, the how many
such triangles are possible?

af2 a 3z b 5t e H 2 st 30 v ¥
f& ab = 24, WEl o 3T b Yuifes wm g, &t oA
f&aa R dara

(A)12 ()18

o
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® rb" T ] Q13. Which of the following represents the
— — sides of an acute angled triangle?

fdes & & ®aa, 'S & Ram &
apon3i Y zarfar 22 =

D
7,8, 10 3 Lqeicv 100 (A)6,9,16- (8)7.8,10

135100 ((c) 512,13 l (D) None of these

~




Q4. Two sides of a triangle are 12 cm and 15

. " cm long and the third side is integer, then
x .15 | X] what is the largest value of third side for
which tri- angle is acute.

ﬁnﬂﬁ 2 oo 12 Aft. Fem 15 A, R
[’L“' ’ @z i ofon va quifes ¢ at fiardt opom &1 a2
' a ufﬁafawmm gon anfd R sgarsivn
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(A) V7 ()18

" (D) 20




Q +b¥= o

a’“+ bl 4 e
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Q15. Which of the following combination of
sides results in the formation of obtuse
angled triangle?

B Ry & va FA ool &
fAssfafaa daraa A saa #atwa agi 2 2

i
(D) None of these

XS +2W < €\

1L +35 ¢S

./

(1 £¢
“y L 26 —1

| m—r.
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Q15. Which of the following combination of
sides results in the formation of obtuse
angled triangle?

B Ao & Isa H ool &
fReafaf@a datde A seran daaa agi ¢ 2

(A)6,7,13 (B)S5,6,8

(C)4,5,6 (D) None of these




Q16. In an obtuse angle triangle the length
of side opposite to obtuse angle is K cm and
length of remaining two sides is 12 cm and
17 cm. how any such triangle are possible ?

S 3fees S R A fds Sor &S JATHA &t
ggmﬁ gl 32 3= 2 oo 12 At 3w 17
|
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s Hara 2
(A) 7 (B) 8
(C)s (D)10



lq,ﬂ.a le biovgctor

20 ~741/% W14

A

co
Q‘\‘ )4*7’! & asec tor

BT 4wy















lZGIC= QO+ TR

LATc = ﬁo,t.%f

. Le
[ATB:- 90+ =

C
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Q17. In AABC, <A = 68°. If | is the incentre of
the triangle, then the measure of BIC is:
AABC & £A = 68° 21 TR’ | Ram w1 sia Bz R, A
ml ¢BIC & AT F1a B2
Q0+ 5 "
" (A)124° | (B) 68°

(C)ras° (D) 54°

C{() +TIMD A\
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QI18. If one of the angle of a triangle is 64°,
A- then the angle between the bisectors of the
other two interior angles is:

°+ uﬁﬁﬁﬂﬁ » A AvH 64° 2, A =T

& Fafganras & dta &1 S
.
(A) 100° [ @ |
6 < (c)ee° (D) n2°

QO{‘ZOI =) ‘QQ
B
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Q19. In the given figure, the angle bisectors
~ of B and C of an isosceles triangle intersect
,', Ty at point O. Find the angle BOC (in degree),
(9o + 5| when LABC = LACB = 75°
- ﬂmmi,mfzar%%;gtma deC

& aw@m.ﬁ:;tn £1 10T BOC &1

e (f33ft A) 5ra &, AT LABC = LACB = 75°

¥3
. -* el (? (A) 105 ;/ (B) 147.5
o4 |5 5 1o (€)180  (D)170
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Q20. In a AABC, the bisectors of 4B and C

meet at O. If £.BOC = 142° then the measure
of LAls:

AABC ¥ /B 32 ¢ & Fafganvis fdsyg we A=A
ZIU‘QLBOC=I42°§?T}LAEWWE?§TH6?I

(A) 52° (B) 68°
(c) nee M
ﬂm’ Ef L “\ = ‘U‘n(
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Q21. In AABC, AB and AC are produced to
» Ppoints D and E, respectively. If the bisectors

o‘O‘f L';,’of <CBD and BCE meet at the point O and

£BOC = 57°, then LA is equal to:
AABC &, AB 312 AC &) BHLI: DIRETH

@grar wrar 21 af? .csD (BCE &
aafgenas g w2 fA=a €, 3k .BoC = 57° ¢,

Al LA BT AT FATd Bl
(a) 93° (8) 57°
c $7-To- 5§
le)eer] "/, 7% ©@na
W9 R g W

2 Ch =~ &
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Q22. In APQR, PS is the internal bisector of 2P
meeting Qrat s, PQ=16cm, PR = 22.4 cm and
QR = 9.6 cm. The length of SR (in cm) is:
APQR &, PS, S U2 QR & fASA TS P &1
ytafes fRamore 2, PQ = 16 cm, PR = 22.4 cm
:mqa- 9.6 cm 21 SR # FaTE (cm ) 1a

- 42 -+«~ 2l (8)44
RSl M s g (©)a O

S ——

—
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Q23. In AABC with sides 6 cm, 7cm and 8cm,
the angle bisector of the largest angle
divides the opposite side into two
segments. What is the length of the shorter
segment?

AABC &t e 6 Afl., 7 Aft., 3z 8 A,
Jaa @3 &1 FAMGATAD TTHSA ATS!
aﬂﬂaﬁﬂﬂﬁaﬁamtlmmmm

(A) 24/5 (B) 21/5
- 55@'_5 (D) 5613




Q24. In a triangle ABC, D is a point on BC
such that :—f = %. if 4B = 68° and 4«C = 52°,
then measure of £.BAD is equal to:

fAsfi asc Ap T Bc v P fAGE & =
%9 af? .8 = 68° 3T .C = 52° A LBAD BT AT
fdsaran grom?

(A) 60° @5&; _BY l Bs) 30‘1

Maths By Pradeep S

PC

—

(C) 50° (D) 40°
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Q25. In AABC, AD the bisector of LA, meets
BCatD.fBC =a, AC =band AB = ¢, then BD
-DC =

AABC &, LA &1 HAMGAHTAS AD £ Wl BC B D
wfAsarziaffkec=a, AC=b3RAB=cE @
BD - DC fAs=ifafaa # A fad azraz g ?

ac a(c+b)
J (A) 7 (8) ==
f, B ¢ { | S ——
C4+ 6 A (c-Lb ( a(c-b) ab
ey (C) (D) —
. e 7 _ob b+c
D¢ ,/) !‘; | {.b L-#J
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Q26. In AABC, D is a point on BC such that

®|® AD is the bisector of ZA, AB =1.7cm, AC =

L 2.8 7.8 cm and BC 13 cm. What is the length (in

cm)ofDC?

AABC # D, BC W2 & 2 fAg 2 1 AD, <A &1

A L ~  EAGTAS §, AB = 1.7 A, AC = 7.8 At 3R
S ¥ < BC=133M2 AocHdarf (A A a2

(A)S6 ., . (B)78
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L8 °] Q27. PQR is a triangle, whose area is 180
cm?. S is a point on side QR, such thatPS is
. the angle bisector of LQPR. If PQ: PR = 2: 3,
then what is the area (in cm(B) triangle

PSR?
. , PQRUS s ¢, Aas &awe 180 Aaft. R s,
3 g R U2 U® fdeg 381 wabTe & 1 S, LQPR W2
‘ %mtl PQ:PR =2:3 ¢ &l R
3¢ PSR &1 Sawe (Aft.) Aaa g ?

s (a) 90 (B)108
< (To8 | (C)144 D



Maths By Pradeep S -

, Q28. The perimeter of AABC is 24 cm and its
Ar side, BC = 9 cm. AD is the bisector of £BAC
C while | is the incentre. Al: ID is equal to -
.\t AABC 61 afRfAfA 24 Aaft ? 3z 386 o BC =
) 9 Aft 21 .BAC & FARRa® AD 2, Fald |
| 3a: How 21 Al : 1D TAR B-
b v c '
S (A) 7:5 1”” - (B) 5:2
- L_. v —4 (b oL ® \ 'Sl
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Q29. In the given figure, ABC is a triangle.
The bisectors of internal 4B and external 4C
intersect at D. If 4BDC = 48°, then what is
the value (in d?rns) of LA?

ABC U® fAa 21 8 &
mféasazn «C &1 aig fganos fdg o W
Q‘ﬁmmtlu@LBDC"AB" g, @ <A &
et (Reft ) s @2




Q30. In a triangle ABC, AB: AC 5:2.BC =9
cm. BA is produced to D, and the bisector of
the Angle CAD meets BC produced at E.
What is the length (in cm) of CE?
fAs(c1 ABC # AB: AC = 5:2,BC = 9 cm £1 BA
& D dF TSI ATAT § 3T ST CAD &I

NI TeTE 918 BC & £ W2 fA=an 21 ce &t

5a1s (ecm ) S1d &2

(A) 6 (B) 9

Maths By Pradeep S

(C)10 (D)3
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Q31 In AABC, 4B = 72° and «4C= 44°, Side BC
iIs produced to D. The bisectors of 4B and
¢ACD meet at E. What is the measure of
LBEC?

AABC &, £B = 72° 32 .C= 44° §I 31 BC, Ay
D d& @3T8 Ardl 21 «B 3 <ACD & fRaTors
g e ASA T Bec AT TNE ?

E- LA  (a)se (8) 46°

i o1
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Q32. If the altitudes of a triangle be 3,4,6

) LR BN findit:inradiu% pOPBD—.

- , hQ Ak ©3dd 3,4,6 3d
= - : mqaﬁ%marm .
j g il (A) 3/4 (B) 4/3
L:Loaday

(C)e/7 (D) 5/4

) 4372

v - 'S

1 a3

. f:QL' [j? .Y
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Q33. If the given figure point | is the incenter

of AABC then find EC.
fev sre s & af? 1, AABC &1 3ea: B L A EC

&1 sFarg sira HifAv)
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Q34. If the given figure CE - BC = 6 then find

”}, g% ?{-J the value of BE.
; “"‘ ‘ fae ae faa & af? ce-8C = 6 ¢ A BE 6 Faard
& x ¢ xa 3 | (A) 12

\ 3
CC -Be=¢C +4 x4 818
'R o o e\ j
did £3 44 C)30
[Ce= TH¢

B ‘(D)6




A

. o

/‘* &;;ﬂfx‘ . 35. Re e A7 A .BAC = 120° 3R AD, .BAC &1

.///." =
\\\'./// y ‘.

o e @I FAfReS T | LL P L
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{ / BD EC
Ao e /‘10 £EDC = £ECD §, @t 2B &1 #1al 5ia $ifAe
e 320, (A) 40
“uBl20
(C) 60

& | (D) 80
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B.8&> 36. If the following figure, AD bisects angle
/ot e &% BAC. Find the length of BD.

/ ) fas=t angpfd A AD ST BAC & FAfRanfAa
6/ “z-1  wHzar 180 & seard sma i




» g_‘? 37. What is the inradius of the a triangle

Maths By Pradeep S

SP £

. WY

L.. [()/r),ah\/r "*.‘
PEThIS<) gide are 13, 14, 15.

E;t Q*;;*ﬂ '3+ 14 ¢ UH ﬁaja # a: A sma s, aflk 356
———ftaiY agot eI 13, 14 3215 2

whose




7~ YAS
f1 . q
)

M
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38. PQR is an isosceles triangle with sides
PQ=PR=45cmand QR=72cm. PN is a

median to base QR. What will be the length
(incm) of PN?

PQR HATRATE e ¢ fATH! ofoC PQ = PR =
45 A 3. aan Qnﬂz A 21PN m%n &t

AT 21 PN BT Saarg (A3 A) s geft 2
(A) 36

- 4
D) 32
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-~
N\ 39.Ina AABC, thesidesare AB=16cm, AC =
B N 63 cm, BC = 65 cm, From A, a straight line
J NS AM is drawn up to the midpoint M of side
BC. Then the length of AM is equal to:
c AABC &1 3{UTE AB =16 cm, AC =63 cm, BC =
p 65cm 2IA R BC & 7ty fAg M & v
\ D TS T AM ATt 21 AM & SFard PR
1 . S

[
] ? -
\ I 4 A £S ]

cm

> C)23.5cm
D)3L.5cm
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(20 3@ = 9?] 40. G is the centroid of the triangle ABC,
S S g telimiin. i A where AB, BC and CA are 7 cm, 24 cm and

| 25 cm respectively, then BG is: |
A o L fAa{c1 ABC ®1 Hou® G B, ITH! N AB, BC
- “\. 32 CA HH2I: 7 cm, 24cm 1T 25 cm 1 BG BT

mt:




ol LA
-

41.In A ABC which is right angle at A and BC

s 5 cm.. BL and CM are medians. Iif BL¥ cm.
thon CM will be

\ ABC &, Ot A U2 Iaaivfia £ 3ie fAaa B
Aaft. t z’m@mﬁmaznmtlazqmz uf&

BL = = 2 &M, 2 @ om & ssard fFast fofte

Maths By Pradeep S
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42. PQR is a triangle such that PQ = PR. RS
and QT are the median to the sides PQ and
PR respectively. If the medians RS and QT
inter- sect at right angle, then what is the
value of (PQ/QR)??

PQR 38 USTZ &1 US A9 ¢ i PQ = PR EIRS
a1 QT wA2I: AT PQ AT PR YT ATEAHIC ¢
af? AfeASIC RS d2N QT HASIV G2 yfdwdz
- S g, A (PQ/QR) BTATATIE ?

[Fe=rr)

(D) None of these
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(B) 10 cm. .

43. G is controid of given AABC.GN = 4 cm,
GM = 3 cm, £BGA 90°, then find the length of

GC. -
22 A R ABC &1 Houd &1 GN = 4 A,
GM = 3 Al F2m .BGA = 90° ¢, &t oc &l
SJars Ara Hifde 2

(A) 6ecm.
C)S5cm.

D)9cm.
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44. In AABC, the medians AD, BE and CF at
G. then whichof the following is correct ?
AABC # #H1EO&S AD, BE 312 cF 3adfd ¢ U2
gl A AAaTmadie?

?x; AD + BE +CF )SABo BC + AC)
B)2(AD+BE+CF)>(AB+BC +AC)

S\ (€)3(AD + BE + CF) » 4(AB+BC+ AC
(D) 4(AD +BE +CF) >3 (AB +BC + AC

& D C
_3(A8*3f+(r\)(\.‘KF\) +QFE + c()
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45. Consider the following statements:

1) The perimeter of a triangle is greater than

the sum of its three medinas.

2) In any triangle ABC, if D is any point on BC, then
AB+BC+ CA » 2AD.

Which of the above statements is/are correct?

fasaf3fada suat gz fdar $ifAv:
lfas'aﬁﬁ & afdag 3aét fia aftdsd & ares

&'Xgopusci aRec B RATD L, A AB +BC
oCA » 2AD BT 21

(A) 1only

(B) 2only

(C)Bothland 2

(D) Neither 1 nor 2




- Maths By Pradeep S

M, . ma.m2 47. In AABC, the medians AD, BE and CF
meet at O. If AD, BE, CF are 10, 24, 26 cm.

hons» e B ~ then find the area of AABC.
3" JSm(em rm/x " omDABC A AD, BE 312 CF AIfeASIC w2 fAeet 2

AD, BE, CF 10, 24, 26 @Mt &1 &t AABC &1

p——— . _

- R | 3T

S = { 1+ M2+ | y | 2 o
R— R— - ": h’ * '? - 7 ') (

<X 1 (B)w80
—  (c)so0 3. ’
“’hl+rnf = ma (D) 170 ‘:\_a—\:"\o‘i%
[ Ay 2 MRna Kj \LDX
1
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48. In the given figure G is centroid of AABC
and BG= 13, GC = 9, BC = 5 then find the

value of AG?

@ ord snpfd A 6, A ABC BT Haa ¢ HTBG =13,
GC = 9. BC =10 £ @l AG &1 H1a AA1a HifAe)

(C)15
D) 18
#
):2 = 100
( \3 - ‘O




A. 49. In the triangle ABC side BC is 10 cm and

N G is centroid. BE and CF are medians to the
sides AC and AB respectively. If medians BE
and CF intersect at right angle then find the

length of AG?

AAacﬂaﬁrac = 10 Al 32 ¢ Hg® 21 BE
\ uﬁcrmel o3l AC 312 AB U2 FfeAHIT ¢

FfeASIC BE 312 CF FAASIVT Uz widedz

Maths By Pradeep Sii

5 @ m—@j amﬂ!a’taijcﬁmmaﬂ’n

c 15 Q\\
(D) 20

‘ ‘((r -
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&

50. G is the centroid of APQR and medians

QT and PS intersect at right angle. If QT = 27

and PS = 18 then find the length of RT?

fA3(c1 PQR &1 Foud 6 ¢ 32 FfeAST QT 2

PS Udh- &1 FAS0 g2 ufdede sedt g af?
() Qr=273MzPs =18 2 A RT & FFare F1d B2

— RUB)IS  |eT-av , a4 ]
7.

PS = 'R
* N .
2 =6







[ Boc =\go-LA
LAQ(, = \Ro- LR}
{ ARog = \8g-LC



r € RAd9%oq < Beyoe - (oyof












Fecame et~
‘"(Q, a






(RSc=2¢A
LAS:. TR
LA ~ ¢
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55. O is circumcentre of AABC if 4.BAC = 85°
.BCA = 80°find < OAC.

AABC &19f&% O 21af2 LBAC = 85°, ZBCA =
go°al z.OAC t-

(A) 60° (B) 75°
(c) 80° (D) 30°

O+ »+30= 180
cQ@:\S()
D35
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56. If O is circumcentre of AABC and 4BAC =
58° then find the value of 2 OBC?

af? vs Ao ABC &1 URSe: O § dAT LBAC =
58° dd LOBC BT ATA FATE ?

(A) 29°

(C) 48°
(D) 58°
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57.Ina A PQR, 2Q = 60°, PR = 14V6 cm. find the

circumradius of triangle PQR.

fA3a 2 PQRA 2Q = 60", PR = 146 A E, R

POR&EAFAFESI AN a2
. R (A)7VFem
_I:‘ % _ ae LZ_._@ (B) 7V3 cm
MNGO 3
< (C) 7v6 cm
e LR
3
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58. Find the distance between incentre and
cir- cumcenter of a triangle whose sides
are6,.8and10cm?

vd R & s83RwWAzHRNA S
ng'jaaahz tﬁaﬁgﬁmﬁgﬂl

(/\) \ S

(B) V6
(C) 2V2

(D)7
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A 60. INna AABC, AB=17.5cm AC =9 cm. Let's

D be a point on BC such that AD is

perpendicular to BC. if AD= 3cm. Then what

1S g is the ratius of the circle circumscribing the
9 AABC?

AABCHAB =175 @aft, AC = 9 Aafl AT BC W

pfAgzavsrEifF Ap1ecaR Ap 3 AM T A

’ > = AABC & UR&ey &I A sira &2
*
R 2 A Yhec B) 52.50
TS gc; 13.125
T W D) None of these
- —= 353
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6. What is the maximum number of
circum-circles that a triangle can have?

ve Aoe & fds A yfds fFaa allga @

mzaf?

(AN

za) 2
(o I

(D) Infinite / 3/&ta




Maths By Pradeep Sii -

62. O is orthocentre of AABC if 4BOC = 120°

find £BAC
o fAs{e1 ABC &1 &3a Faw 81 AR LBOC = 120°,

al zBAC 2-
(A) 135°




63. In a obtuse angled AABC, <A is obtuse
and O is orthocentre. If £.BOC = 54° then find

Maths By Pradeep S

BAC.
< éﬁﬂfﬂmvﬁuﬁajaAscﬂAmmt
12 3u® SFader ¢ agaaR, af? .BOC = 54°
g1, @t «BAC f&aen g ?
. ) 108
!c!us 2
(D) N6
18 e

—

16




64. If the altitudes of atraingles are 3,4,6.
Find the ratio of its sides.

faft Ao & daif Soal # ssardai 3,4, 6 2
At 3& fAe(A & oo &1 r{uTa E9M-
A) 3:4:6

7 C) 3:4:) ﬁg\
(D) None
%}QK—S - L}«‘*‘ -~ 1 Q
- o % 4 A = -\t:xﬁx

Maths By Pradeep S

@
A
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65. In a triangle two altiude are 4 cm and 12
cm respectively and all the altitudes are
lintegrers. What could be the _largest

‘possible length of the third altitude?
v A A A &3 4 cm 3T 12 cm 21 Faft

migrfatlzﬂa?mﬁuﬂmm{
STd HeNl o

(D)3




66. In AABC, 4A = 52° and O is the
orthocentre of the triangle (BO and CO
meet AC and AB at E end F respectively
hen produced). If the bi- sector of LOBC
and <OCB meet at P, then the measure of
BPC is:
AABC &, A = 52° 312 va Ao &1 &a &g 21
BO 32 co @@ el £ 32 F U2 AC Ud AB A
¢ W 35 ey f&an wivan 2)1af? cosC
WLmatfgmpwﬁa'at a’uapct

icl‘:% L }M‘“‘“
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67.HAO0 =8cmand OD = 5 cm :')—"' —fﬂnd the value of
0E?
afR A0 = s @M 3z op = s M = - 2 A o A HA

Ol

(D) None




Maths By Pradeep St -

6B.fAO=8cmand OD =5cm find BD-DC =
? af2 A0 = 8 @3ft 301z oD = 5 At £ &t BD-DC
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69.1f AABC and AD L BC,Pis pointof AD if AB
=16cm, AC=15cm, CP=12cm is BP?

af? fAsfst ABC 32 AD L BC, PfAE W E &l AD
WwRAB=16AM Ac=15Aftcp=128ft ¢ A

A AAL
8B)\v7

() 47

-
:: :::::] D) 67
E\B‘*C'zzﬂcm-\-ﬁﬁ"— (D) 6,

LTE4+ 1Yy = Jac + BP™
L y

i ,
hoo =Ras ket BP: &% BEHP™- ne + By
891:\1’5' &';, Sﬁ




70. AABC is right angle triangle where £ABC

A - = 90° and BN is perpendicular to AC. Here,
\fﬂ/w % AB=6cm., AC= l':).cm. then find BN?
N AABC U Ha®Iv1 e ¢ A LABC = 90° 2
A 312 BN, AC U2 &34 21 38 AB = 6 A, AC =
¥ N 10 Aaft. 2, 3 eN faan gom 2

\ A)34

: B)48 ﬁ R
o SEX
| | (D)4.4
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71. C is the mid point of AB and <BAD is

equal to £CBE and £ECA is equal to <£DCB. If
<E = 30°, Find D.

af? ¢, AB &1 #eg 2 32 .BAD, .CBE &
312 LECA, .DCB aigz’éztl 3T ZE = 30° ¢, &t
LD =?

(A) 60°
(B) 15°
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72. The sides of a triangle are 4 cm, 8 cm
@ and 10 cm. Find the length of the shortest
( | side of similar triangle whose longest side is
o\ o - 15cm? .
\wﬁaﬁﬁwam, amﬂaﬁzmm&#
IA A Rofe H FaA S aon = 2,
fAadt Faa sadt afan 15 At 2
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73.Ingiven figure AD=6cm, AP=BP =3 cm,
ZAPC = /BPD and 4DAP = LEBP then find BC?
23 A A3 & AD = 6 A, AP = BP = 3 At
(APC = /BPD 312 .DAP = EBP £, &l BC &I
AT FAra HifAA 2
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74. D is a point on side BC of AABC such that
ADIBC. E is a point on AD for which AE: ED =
5: 1L i £.BAD = 30° and tan £ACB = 6 tan DBE
then £ACBIis?

fAsf1 aasc #1 oot BC T2 D v P Ay R, 1
AD, 3T BC UZ &34 21 E, AD U2 Us faeg ¢ 32
AE : ED = 5:1 21312 .BAD = 30° 312 tan LACB =

‘%5_ = TR (A) 45°

¢ "8 : ' oo {OW\O"._E., —
el &
D) 90°




75. In a triangle ABC, AD is perpendicular on
side BC. E is the foot of perpendicular on
side AC from vertx B. AD and BE intersect
each other at point O. If AC = BO then find
LABC?

fAs(c1 ABC & AD 3fWAT BC U2 &4 21 3T AC W2
B & 1S 1A S34 &1 9IS 1 AD 12 BE U

®! fsg o w2 wfdwdy ®ea ¥1afk Ac =8O
¢ &, @ LABC &1 H1S Fra HifAA 2

VK . - A e
(B)as® ] ¥ X

C) 60° ® &

(D) 90°
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A \ 76. AD is perpendicular to the internal

bisector of ABC of triangle ABC. DE is drawn

through D and paraliel to BC to meet AC at

| \ @ E. If the length of AC is 12cm. then the length
S of AE (incm) is.

\ AD f33{%1 ABC & £ ABC & Hiafd® ffanoiss &1

© &d 21 DE, D & f1&¢ 3 BC & HATAT Ta

wran § fAEA Ac &t £ ©2 s @) af? ac $

” < gﬁ'lzmﬂ.ta’ueﬁm(mﬂ.mm

? A .




' 77. Vertex angles of two isoscles triangles
are equal. If ratio of their height is 3: 4, find
‘ A the ratio of their perimeter-
z’taafgargfaaﬁrés e &1 Faar ) afd
Il FATEal &1 WUt 3 : 4 ¢ A IS gfkaTar

&1 He[aTd EM-
(A) 6:8 (B) 4:3

Maths By Pradeep S

(c) 9:16 | (o) 3/4j
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) 79. In the given figure, if = = —

/Q} °° then what is the value (in cm ) of PQ ?
" 3 .

.am'{mqsﬁa’,ufa‘f—f —aduqrpy = 18 AL A A

9

and PY = 18 cm,

» A1 Cor\ o PQ@EIATE (AM. M) w2
2T T [
(B)18
L I )
97 Ty (c)

YPO : &R} (D) 24
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81. In the given figure. if AD =12cm, AE= 8
cm and EC = 14 cm, then what is the value

in cm of BD?

o npfd A, af? Ap = 12 Aft, AE = 8 At
ael EC = 14 A3, 2, At BD &1 AT (AM. A) T

g2

YEE

el

(D) 44]3

aa S SR LPIE,
3 “ﬁ ‘3)
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AB(

83.Let A ABC ~A QPRand =
ar( LPOR

~ . AB = 12
16

cm, BC = 6 cm and AC = 9 cm, then QP is equal to:

Frrom L 16
ATSAT £ ABC ~ 4 QPR 3z~ :8; ~gi1afd as
Shola 3 Y |
1Z2em BC=6cmHRAC=9cmE A oraTAT L
3 g I |
A ' (A)16ecm (B)9cm

(C)12em (D) 8ecm




Ctvians
AD > (0 ’ BO

’ )88.lnthogivonﬁgurom o Ethonm
O
(8)

(c)=
(18)
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89. In AABC, point O is intersection of AB, BE
and CF it divides AD in 4: 3. If area of BOD
and DOC are 26 cm® and 13 cm?®. Find the
area of AABC
fAs{c ABC &, fsg O, AB, BE 312 CF &1 BT
N g;'tuz AD ! 4: 3 3eara A RanfAa
¢, af? fAsf BoD 302 DOC &1 HAGS
wael: 26 213 AWM. 2, A AABC & FTHS

S 2y A S
. 13 (A) 52cm?
—_if%q+3°‘ (}356cm'
S 243 C)S54cm?
= 9 (D NOﬂOl
e S—
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90. In the given figure 0 is in-center of 2 ABC and if

AD 7 €0 - BO
—_— e = - — =7
1] ¢« OD ’ OF

aR A faAo cascH St = - 2.0

0 s OPD 5
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91 In the given figure = = 2 == = Z then find the value of
e ) ’

s M
Ck

EA
RemefadA- - - — - -3 @ - s1a= na $ifde »

s N )

'"""9‘"‘“"9“",—“ -‘-—' -thonfindthovalucoft"—"
Resefad- - = ta’t{‘)"’mmmzﬁﬁz}
2.CE
- 21 1
I EA (A) OF

()= (D) None
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A (3) 93. AD is the median of A ABC if AO: OD=5:3
( _ find the AE: EC.

| | Ag 5:6
E (B 5:8]
sc; 6:5
/ 3:4
o 4\@%
(24

AE: Ec
R 3
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94. In the given figure AG:GD =3:4,BD: DC =
4:7, AE = 24 cm then find the length of CE.

23 33 A3 A AG:GD = 3: 4, BD: DC 4: 7, AE =

L. 2432 A cesmadAA 2
(A) 44cm
A iE(:{\ &V(B)BBCMA
2 [ 1 3 (C)84cm
8 (D) 85cm
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95. In the given figure == - = *= - then find the value of

co > B

A0

o

Remefad= - = -t @e




A 97. In the given figure AP=6cm,CP =5 cm,
PD=2cmPE=1cmand PF=3cmthenBP =
.) € rRewfRAaAaAr=6Aafl, cPr=5af., PD =

)\ 28M., PE=1cm @M., 32 PF =32 At BP &
AT ATd HIfAQ ?
=_  (A)S5em
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98. In AABC, AO: OE=5: 4, CO: OD = 3:2 then
findBO:OF=7?

af2 fAae AABC, AO: OE = 5:4,CO: OD = 3:2 ¢,
al BO : OF SiTa HifAd 2
(A) 38:7

(B) 36:7

(FiR

(D) 4:7

Maths By Pradeep Sii
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99. In the given figure 0 is in-center of A ABC

andil === = ihe Wo.egRmMRAaAL

OF 4 0D
Aacmmmtm;‘,’ ‘% S B
ra A
(A) = (8)

(€)= (D) None




@ towﬂr u_)pow'-n(] M

11T &) er
L) = LS5 @A vauu(cﬂmy(
{2 = 2¢ C¥) ~d¢ )y
(3= ¢3 LYy = £¢
=48 /3-¢s
@B I honer
’k??ul"(q,oq\j
(R +L6= 1%

Ly+L5= Ro
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101. In the given diagram AB || GH || DE and
GF || BD || HI, .FGC = 80°. Find the value of
<CHI. f2e e A3 & af? AB || GH || DE 3112 GF ||
BD || HI, .FGC = 80° §, @ LCHI &1 T Fd
&

(B) 120°
(C)100°
(D) 160°
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102. In the adjoining figure, a star is shown.
What is the sum of the angles A, B, C, D and

ﬁcvmf%aiamf%zammta’laﬁmA, B, C,
D 3112 € &1 391 F1d B

(A) 120°

B) 180°

(C) 240°
(D) Can't be determined




103. In the figure find x. x &1 Tl SATd &2

Maths By Pradeep Sir

(B) 50°
(C)as®
be +x =105 (D) 30°
Xz 60O




104. In the figure find x. x &1 #ATa ATd &2}

‘3\ ’ (A) N0°

Maths By Pradeep Sir

|0 (C)105°
A Q' 'G (D) 90°

,OO

0
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105. In the given figure PQ is parallel to RS, £

. 1 i AEF = 95° /BHS = 110°, and £ABC = x°. Then
\Q what is the value of x ?
25 fRe a1 3R&A A PQ, RS A TATAT B, LAEF = 95°,
™, £BHS =10° X LABC = x° ¢, Al x BT AT T ¢ ?
8s x >R (A) 15 \Ro

P N [OFNE pa

el ()30 8S+x=o

; . (D)35  Xx=3¢
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106. In the figure find x and y.

3 £ ue
o 3 X, y &1 #ATal SATd S|
(A) 40°,95°
A AN > (B) 55°,95°

€ n |(C) 95°,40°

bo (D) 90°,45°

- _ K\Cd‘g"
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107. In the given figure lines AP and 0Q
intersect at G. If LAGO + /PGF = 70° and
(PGQ = 40°. Find the angle value of .PGF.
22 I A3 & ap 30 0q, 6 fisy w2 ®d ¢
T LAGO + LPGF = 70° 31T .PGQ = 40° 1 &t
(PGF W1 AT ATd B2
YELS (B) 40°

/X\ e (c) 60° (D)30°
0

o
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108. Find the values of x and y?
x 32 y &1 AT SATd B

(B) 65°,70°
(C) 50°,72°
(D) 72°,50°
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109. Find the values of x and y?
x 32 y &1 AT SATd B

(A) 60°,100°
(B) 65°,105°

(C) 105°,65°

(D) 100°,105°
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1N0. Find the values of x and y?
x 31 y &1 AT ATd B

g>>95 (A)75°,90°
as 17 °° ) (B) 90°,75°
* 3
T (D) 95°,70°
&

~ \R0
"



1. Find the values of x, y and z ? x, y 312 2 &1
AT ATd B

(A) 127°,50°, 50°
(B) 130°,50°, 50°
(C) 120°,50°, 50°

[\(- \RO

‘\
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N2. Find the values of x ?
55 x W1 AT SATd B
(A) 50°

\f(C) 45°
S0 A(D) 60°




3. Find the values of x ? x &1 ATH ATd He |

—{A) 120°
(B) 105°

-
( ) o 0 _
eyaw |5~
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€5 4. Find the values of x ? x &1 #ATS JATd &2
(A) 75°
(B) 60°
(C) 45°

A
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115. Find the values of x and y?
x 31 y &1 ATA ATd B2
(B) 87°,115°

(c) 81°,121°

(D) 73°,105°

| 8o

- . S




W/
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6. Find the values of x and y?
x 32 y &1 AT SATd B
(A) 71°,32°
(C) 69°,31°
(D) 72°,31°




Maths By Pradeep Sii

N7.Find the values of x ?
x &1 ATH ATd He |
(A) 55°
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b N8. Find the values of x ?
x 1 AT AT B2
(A) 79°

—(B) 81°

(C) 89°
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N9S. Find the values of x ?
L ALAGEIGE T4
(B) 141°
(C)143°

11 (D) 144°
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120. In the fig given below PQ|IRS||TUlIVW, PR
=10cMm, RT=22cm, TV=16cm QW =42cm
then find QS?

fRe e @3 A, PQlIrRsliTUlVW, 3T PR = 10

cm, AT RT = 22 cm, H{AT TV = 16cm, Al
QW= 42 cm AT QS &1 AT ATd Bl

(A) 15 em

(C) 22.5¢m (D)12.5em
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121. In the given fig AB |ICDJ|| EFlIGH, if BH =
IBEcMAC=21cm, CE=12cm, QR =18 cm
and RS = 21 cm find the value of EG + PQ +
DF? v J1e f@a & AB |ICDl EFIIGH 3T BH =
188 cm, VAT AC = 21 cm, T CE = 12cm, Al
QR=18cm HAI RS = 21 cm, EG + PQ + DF &I

AT ATd B¢ ?

(A) 91.5 (B) 93.5

(c) 97.5 (D) 99.5
.
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122. In the given fig below AB ||CDJ| EF, if AB = 30

1 cm. EF = 50 cm, AC =% CE and BD is x cm less
/57L than DF then find CD = ? i Re e A3 & A8 i
B, > CD||IEFTRATAB=30cm M HATEF= 50cm,

q’[/ \ \ AC = CE, 3T BD, 31 DF & x Aft a1 {1 aa afon

t i  CD 1 HTa AT EN ?
|20 4150 L (A ? cm (B f;l cm
L o
(C) cm (D) 300 cm







123. In the given figure O is the centre of the
circle. AC = BC and 2£AOB = 120°, then find
the value of .CAO.

32 712 A7 A g &1 & 21 AC = BC TAUT LAOB

=lzo°aancmac1mzbn-
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124. In the given figure O is the centre of the
circle. 2 OAB + 2 OBA =100°, find the value of
LCAB + LCBA.

22 1A 3 A g &1 Sa¢ 21 LOAB + LOBA =
100° 1 @1 LCAB + LCBA &1 AT EITI-

(A) 50°

(C) 60°

(D) 55°

Maths By Pradeep S
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125. In the given figure O is the centre of the

circle, then find the value of £4BCO.

22 A A3 A ga &1 Fex ¢, A BCO T A
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126. AB is diameter of the semi-circle. Find
the value of BDC.
21 2BDC &1 HATA-
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127. In the given figure, if ZAOP = 75° and
LAOB = 120° then what is the value of
(AQP? U2 Re e fAa A, af? LAop = 75° 3R
LAOB = 120° &l LAQP f?faant ?

(A) 45°
(B) 37.5°
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129. An equilateral triangle ABC and a scalene
D) triangle DBC are inscribed in a circle on same
“side of the arc. What is ZBDC equalto?
vs HHag A ABc 3 vas fAwasrarg fAs(w pec
U g A 919 & v € auw ifda fe wma ¥ .epce
fFadsaeaei?
(A) 30° (B) 45°
(C) 60° (D) 90°




130. The centre of the circle which passes
through points A, Band C is O. If £/BAO =
30°, «4BCO = 40° and £AOC = x°. Then find
the value of x. f@sg3if A, B @21 ¢ & Ioieal a1 S
TS g &1 Sow ¢ AT LBAO = 30°, LBCO = 40°
T LAOC = x°, x BT ATA TATE ?

(A) 70° O

(C) 210° (D) 280°

Maths By Pradeep S
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131 In the given figure O is the centre of the
circle and ABJICD. If ZADC = 25°, then find
(AEB- A AgaE Smot A |licD ¥
af2 LADC = 25° &, a’taeamﬁﬁv
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132. In the given figure O is the centre of the
circle. £LROS = 44° and RO is the angle
bisector of .PRQ, then find the value of
LRTS.

22 A A3 A ga &1 Haw 21 LROS = 44° A
LPRQ &1 HAMZHTAS RO A LRTS BT AT~

(A) 46° (B) 64°

(C) 69° (D) 68°
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133. AB is a chord of a circle in minor
segment with center O. C is a point on the
minor arc of the circle between the points A
and B. The tangents to the circle at Aand B
meet at the point P. If LACB = 102° then
what is the measure of L APR"

soprment) AebuTic. fEs A s S TS a
Segment B
as’gag%‘wvzcas %aqaﬂmef?ﬁvﬁ

fag p w2 fAadl 21312 LacB =102° 2, @t .APB
&1 AT ATd B

(A) 24° (B) 23°

(c) 27° (D) 29°
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134. Inthegivenfigure, £ QRU=72° L TRS = 15°
and PSR = 95° then what is the value (in
degrees) of 2 PQR?

& 1 anpfad A, LQRU = 72°, LTRS = 15° q2AT
(PSR =95°2, At LPQREBT AT () AT 2 2
(A) 85 (B) 95

(C)75 (D) 90
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135. In the above figure, YAX is the tangent
on a circle having centre O. If £BAX = 70°
and < BAQ = 40°, then what is the value of
ZABQ?

gt @3 A, vax ga # as e 2, wef
oa ¢ af? BAX = 70° 3% .BAQ = 40° £, @
(ABQ fFad aTrae 2 ?

(A) 20° (B) 30°

(C) 35° (D) 40°
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136. Radius of two cocentric circle is 13 cm
and 8 cm. AB is the diameter of bigger circle
and BE is the tangent of smaller circle and
touches smaller circle at point D. Find the
length of AD.
2! Adevl gal H1 A waer: 13 A, Fon 8
aafl. 21 AB T2 g9 &1 A ¢ dA BE B A W
mef?mtammgaﬁoﬁawmefm
1 AD & aard st ?
(A) 20 &1,
58) 19 3.

c) 30 &1,
(D) 31 &1,
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137. In the given figure O is the centre of the
circle. Line UTV is tangent to circle at T. VIR =
52° and PTR is an isoslece triangle such that TP
=TR.Whatisthe valueof x +y + 2?

fRe e fa A gu &1 & o 21 2@ uTv gu 6t el
SH T U2 &, VTR = 52° 312 AT PTR 'S HARAE
Ryt zavsrEfEP=TRE-

X+ Ly+ 2 fSadsamrae e ?
(A) 175° (B) 208°
(C) 218° (D) 250°
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138. Tangents PT and QT are drawn on a circle of
radius 5 cm from point T which is 13 cm away
from the circle. What is the length of AB?

Sl R r A s 3l A oS ga & Saw A13
aaft. 3z ¢ =aef Tame pr iz qQr e it of }1 A

HrasadfEafie?
(.\)'—:‘- cm “”.:To cm
(('):—‘: cm (ln"—“' cm
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139. Let PAB be a secant to a circle intersecting
the circle at A and B. Let PT be the tangent
segment. If PA = 9 cm and PT = 12 cm, then what
is ABequalto?

e S pas v gu 6 v Bes 2an § ot gu &)
A 32 B W2 ®wedl 1 e FifAe pr el 2amEe

(EAzAA) 2iaRPAa=9cm iR PT=12emE @

AB f&ad azraz »
(A) 5em (B) 6ecm
(C)7em (D)9cm
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140. A circle is inscribed in a quadrilateral ABCD
touching AB, BC, CD and AD at the points P, Q, R
and S respectively, and 4B = 90°. if AD = 24 cm,
AB = 27 cm and DR = 6 cm, then what is the
circumference of the circle ?

P, Q R 312 s f@g3 9z Ha2r: AB, BC, CD 31X AD &)
el H7a v vs aqefa ABcD & oftaz ve 3w
ST AT ¢ a1 £B = 90° 1312 AD 24 A, AB 27
AMsRor=6AME, AgaHiaRfMam 2

gA; 20m
B)i18n
C)15n
(D) 12n
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141. A circle touches the sides BC of AABC at D
and AB and AC are produced to E and F,
respectively. fAB10cm, AC=8.6cmand BC =
6.4 cm, then BE?

U® ga AABC Hl Bc oz D B WA HTar 2 AB @
AC ! B2 E AAT F IS 319 T1A1 31471 af2 AB =
10AM Ac=86AM. 3ece.4AM. 2 AtBe="?
(A) 3.2cm/ @1, (8) 3.5 cm/ @31,

(C) 2.2cm/ @t (D) 2.5 cm/ &1,
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142. In the given figure, PQRS is a square
inscribed in a circle of radius 4 cm. PQ is
produced till point Y. From Y a tangent in drawn
to the circle at point R. What is the length (in

cm) of SY?

& g A, PQrs, 4 @M. A ad v ga A
sifda a9 21 pQ & vammmmtgawzv
a R U2 v el 2o et oreft 21 sy 1 saard
(Baft.) AT 2

(A) 410 (B)2V10

(C)6/10 ) ENE




143. Two circles touch each other externally at

Maths By Pradeep S

point P and AB is a common tangent which
touches them at point A and B respectively.
Find the value of 2 APB.

2! g9 v A &) p fAeg gz argy wael &2a ¢ aen A
vs el Jarafates zaef 2on ¢ it 3¢ waer: A dan e
fasg il uz Taef &zt 21 LAPB &1 141 E19TI-

(A) 45° (B) 90°

(C) 80° (D) 100°
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144. Two same circles of radius 5 cm has a
direct tangent AB and a transversal CD which
touch circle at A, Band C, D respectively. fCD =
24 cm then find the length of AB (incm)?

5 A, A 1S A FaTa gal F1 v Heft Jerafds
zqef 2an AB aen vss fads Jerafates mef2anco @
ol gal S HaAel: A, BF C, D R el szt f1afk co
= 24 3. A A & Fard (A, A) sra HifGe)

(A) 27 (B) 25

(C) 26 (D) 30
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145. A circle of diameter 8 cm is placed in such a
manner that it touches two perpendicular lines.

Then another smaller circle is place in the gap
such that it touches the lines and the circle.
What is the diameter of the smaller circle?
BcmMATATSIUH JasaAVSR I I ag
gZae &a el &1 xef szar 2 52 ves s
Hfd® BT ga R = A 38 yer 7an s ¢ &
ag 2 2z 3 ga &) wef ®zar §1 B ga &
A TNE?

(A) 4(3 - V2)cm

(B)4(3 - 2V2)cm

(C)8(3 ~-vZ)cm

(D) 8(3 - 2V2)cm
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146. A sacant PAB is drawn from an external
point P to the circle with centre O, intersecting it
atAand B. fOP=17cm,PA=12cmand PB = 22.5
cm, then the radius of the circle is:

&t arg) AT p & ow a1 gu a& e o ARk
PAB, 39 &I fg A 3z 8 w2 wfddRa st §1 al
OP=17cm,PA=12cm 3ZPB=225cm e, A o

& A sira $ifAve)
(A) V19 cm (B) V17 cm
(C)3VZem (D) 2V3em
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147. f PA and PB are tangents drawn to a circle
with centre O at A and B from external point P
such that £ APB = 78° then LOAB is equal to:
afd pA 3012 pe Tl AT P A &7 1@ g0 & AT A 32
B gz &t orf Twel2ame €, M za v ¢ & caAPs =
78° ¢, @t LOAB &1 ATa 1A B2

(A)12° (B) 29°

(C) 39° (D) 36°
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148. From an external point A, two tangents AB
and AC have been drawn to a circle touching
the circle at B and C respectively. P and Q are
points on AB and AC respectively such that PQ
touches the circleatR.fAB=1Icm, AP=7cm
and AQ = 9 cm, then find the length of PQ (in

cm).
U® 99 U2 Z A A 2 el 2am@ AB 32 AC
mﬁﬂ!.a;?g;az 8 32 c w2 ga & el
@zt 21 AB 3 Ac U2 f@Z p 32 Q BHL: TH USR
fRa ¥ @& pqQ ga &) flg R w2 el et 2132 AB =
Nem, AP=7cm R AQ = 9em £ at pQ &l Fard
Al A) sra &2

B) 8

(o) s

(o
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149. In the figure below, rectangle ABCD is
inscribed in the circle with centre with centre at
O. The length of side AB is greater than side BC.
The ratio of the area of the circle to the area of
the rectangle ABCD is 1 ;3. The line segment DE

intersects AB at E such that the 20DC = 2 ADE.
The ratio AE: AD is f@as1 fa=3 & v& 310d ABCD

fA@@®1 &aw 0 21 w11 AB 6 Faard s BC A
21 79 & TGS a1 WA S AAGS BT He{rd n
u?tzam DE, AB & E U2 38 aeg iean ¢ &
£ODC = £ADE Al AE: AD T Ha[UTd &1 E9N ?

(A) 122

§B)l:\3

C) 12

(D) 122
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150. Two circles, each of which passes through
the centre of the other, intersects at points M

and N. A line from M intersects the circle at K
and L, as illustrated in figure. If KL = 6 cm, com~
pute the area of AKLN.

2! 9 US-ZR & dow A Qe g ot M aa N
wq:wat%uaaﬂ’yw?mqﬁaﬁx
aen L wz fAad 2132 kL = 6 A3t @ Rt kN &
TGS ATd |

(A) 6v3 cm*
(B) 9V3 cm?
(C) 3, \ 3 cm?
(D) 8V3 em?




151. In the given figure, PQRS is a square whose
side is 8 cm. PQS and QPR are two quadrants. A
circle is placed touching both the Quadrants
and the square as shown in the figure. What is
the radius of the circle?

& o sl A, pQrs ve 33 § Aad afon 8 A,
g1 PQS a@en qpaqata:?efmtlm gad
arall aqel s aen &9 &1 =l &2 e
wipfd Azefammigas Asmamg?

(A)1)2
§a) 1/4
C)2

(D)1
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152. In the given figure, PT is a common tangent
to three circles at points A, B and C respectively.
The radius of the small, medium and large
circlesisdcm,6cmand 9cm. O,, O; and O, are
the centre of the three circles. What is the value
incm) of PC?

¥ anpfa A, pr dtar gt w2 fie ATl saver: A,
B @1 C U2 IufAes of 2am1 21 ©I2, #eq aon
HaA a2 ol 1 A5 4 Al 6 At vd 9 A3ft. 10,
0. a1 o,, #ial &l & & ¢ Pcmm(mﬂ.a))
Fag?
(A) 18V6
(B)9vé6
(C) 24V6
(D) 15V6
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153. Two chords 2a and 2b of a circle are
perpendicular to each other at a point they meet. Iif
the distance between the centre of circle to this
point is ¢ (c « radius of circle) then what is radius of
circle.

zﬁzo mzbmiﬁaaﬂmﬁ!a}wg;w
gRga & S A

a3
fag {ﬂt(c« ?ﬂm) a’iqa%ﬁmt’
(AJa+b+c (B) . n

\ ‘
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154. In the given figure, MNOP is a square of side

6 cm. What is the value (in cm) of radius of

circle? @ 1€ 3npfd A mnor, 6 AL, ofon are v
Pffigad A s o= (Afl. A) =g ?

(A) 4.25
(B) 3.75
(D) 4.55
(SR




Maths By Pradeep Sii -

155. In the given diagram. radius of larger circle
is 5 cm and an another circle touch larger circle
at point P and passes through it center O.PS is
chord of larger circle which cuts. Smaller circle
at point R. if OR is equals to 4cm then find the

PS.
faser R gad A st anzAvs slzigar
wm:mefq;?mtlammmaqm;?tu
ﬁm;;e’ftqaﬁnwzmzﬁtlonzummsp
Sa s




156. In the given figure, CD and AB are diameters of
circle and AB and CD are perpendicular to each
other. LQ and SR are perpendiculars to AB and CD
respectivety. Radius of circle is 5 cm, PB: PA-2:3and
CN:ND=2:3. What is the length (in cm) of SM?

& arf 3npfad A co deN AB §9 & TH § AT AB FAT CD
U A UT &3 21 LQ TAT SR BHLI: AB AT CD W Hd
QgE S A s A2, PB:PA2: 3FAMCN:ND = 2:3 21
smBlsaad (M. A

(A)I(S5v3) -3
(B) |(4y3) - 2
(C) [(2v5) - 1
(D) (2v6) - 1]
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157. In the figure below, a circle is inscribed
inside a square. In the gap between the circle
and the square (at the corner) a rectangle
measuring 20 cm. x 10 cm. is drawn such that
the corner A of the rectangle is also a point on
the circum-~ ference of the circle. What is the
radius of the circleincm. ?

22 A A3 & 3maa AQPr (20 = 10) & &t a4
ABCD & davfa gua & fAva sma & ?
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158. In the given figures AD is a straight line. OP

is perpendicular to line AD and O is the centre of
both the circles. fOA=20cm, OB =15 cm and

OP = 12 cm, then what is the length of AB? 3U¢
fae Ire fa & Ap @es 2o €, op 3T AD W B R
e AT gl &1 &ow 21 AR 0A = 20 Aft, 0B =15
aaft. 3z op = 12 A, At A H Feard fBasf 2 2
(A) 7em (B)8cm

(C)10ecm (D)12em
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159. D, E and Fare the feet of the perpendiculars
from the vertices A, B and C. respectively, of a
triangle ABC. If angle BED and angle BFE in
degrees) are 24 and 0. respectively, what is
the measure (in degrees) of angle EBF?

wﬁaﬁmcife‘;&m B3RCA®BHA:D, EMTF
&da & iz )1 af? Sor gep 3T ST Bre (3021 A)
BHLL: 24° 3 No° £, &t ST EBF BT AT (321 A)

fasngm ?
(A) 55 (B) 67
(C) 46 (D) 86




Maths By Pradeep Sir -

160. The sum of the internal angles of a regular
polygon is 1440°. The number of sides is:

UE HAAgHA & wiafks Sol &1 a1 1440° 2
o3 & iz faaft @ 2

(A) 12

(B)6

(C)8

(D)0




161. The ratio of sides of two regular polygon are
I: 2 and the ratio of their internal angle is 2: 3,
what are the number of sides of both regular
polygon.

& Fwall & aonsll ® wewra 12 § R IAS
yiafts SN & dta &1 sequra 23 21 Ak 35 A&
agIon 61 o3 6 iz waer: faaf @ 2

(A) 6,12 (B) 5,10

(C)as (D) 7,14
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162. ¥ number of diagonals of any regular
polygon is 14, then value of each interior angle

of polygen is.
af? f&aft awvagee A Reol $ dwn 14 2, @ 35

TEHA & UAS ATl BT BT AT E19 ?
(A) 120

(8)1283

(C) 135>

(D) 140




163. f the measure of each exterior angle of a

Maths By Pradeep S

regular polygon is (Sl;) , then the ratio of the
number of its diagonals to the number of its sides is:

US AA-TEHA S TS agd S Sl ag (51 ) 21zad
fAwoll & dzm e a6 ol Ht Fzm &1 ye[uTa F
g?

(A) 5:2

(B)13:6

(FER

(D) 221




164. if each interior angle of a regular polygon is

( 128-}) , then what is the sum of the number of

its didgonols and the number of its sides ? Tf2
faft vages &1 vls siafds stor (1282) ¢ a@
I8 Ao $t dem e 376 sl H @wm &
aFng?

A)15

B)19

c)

(D)2
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164. ABCD is a trapezium where AD | BC. The diagonal
AC and BD intersect each other at the point 0. Iif AD
3.CO=x~3,D0 = 3x - 19and BO = x - 5, the value of

X is~

ABCD U® IZaesaa £, fAad Ap || e 21 f@sof Ac 3z BD
rS-FR B Rgewrr seafiagR A0=3,co=x-
3,00=3x-19 ¥R BO=x5, A xHBTAATNE ?

(A)-8,-9

(B)8,9

(C)-8,9

(D)8, -9
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166. if ABCDEF is a regular hexagon, then what is
the value (in degrees) of LADB?

af? ABCDEF TS HAUTHA ¢, @ LADB &1 #a
(Ref) Awm e

(A)15

(B) 30

(C) 45

(D) 60
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167. In the adjoining figure there are two
congruent regular hexagons with side 6 cm. 12

d 3pfA A 2 Fafras w2 ¢ vdlds &t o6 2

What is the ratio of area of ABDF and APQR, if P,
Q and R are the mid points of side AF, BC and
DE?

Al A3 ABDF : APQR & HAGS] &1 aa
EI9T, AT P, Q, R IFHA2L: DE, AF, BC & :ey g?
(A; 6:5 58) 7:6

(C) 4:3 D) 1]
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168. In a figure AE = BC and AE || BC and length of
AB, CD and ED are same then if £A =102°, 4BCD
=7

f2e sre f@a & AE = BC ae AE || BC @en diat ofone
AB, CD @21 ED Farg A
&1 ATA ATd B

(A) 138°

(B)162°

(C) 88°

(D) s A S Ffl
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169. An equilateral triangle of area 300 cm*® is

cut from its three vertices to form a regular
hexagon. Area of hexagon is what percent of
the area of triangle?

s aag R Aas dass 300 A2 ¢, &
I8 dia eftal &) v waUTHA aanat & fAv S
AT 21 UZHA &1 TG Ao & TGS H1 fFaen

ufderad?
(A) 66.66% (B) 33.33%
(C) 83.33% (D) 56.41%



